

Summary of Bids Received

Project: Fairfield Road Retaining Walls

Section: 13-00000-07-GM

Description: Rehabilitation of Fairfield Road retaining walls

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Illinois Constructors Corporation	nois Constructors Corporation 39W866 Fabyan Parkway		Bid Bond	\$1,107,126.80	-22.47%	-\$320,875.00
Alliance Contractors, Inc.	1166 Lake Avenue	Woodstock, IL 60098	Bid Bond	\$1,122,687.26	-21.38%	-\$305,314.54
Lorig Construction Company	250 East Touhy Avenue	Des Plaines, IL 60018	Bid Bond	\$1,212,969.35	-15.06%	-\$215,032.45
Copenhaver Construction	75 Koppie Dr.	Gilberts, IL 60136	Bid Bond	\$1,314,417.46	-7.95%	-\$113,584.34
Kovolic Construction Co.	3721 N. Carnation	Franklin Park, IL 60131-0939	Bid Bond	\$1,676,335.00	17.39%	\$248,333.20
Engineer's Estimate				\$1,428,001.80		
Design	IDOT(2)	Contract Bidder		MGB then Plan Racl	K	_
Finance	Bid Tab File	Resident Eng.		Administrative Assis	stant	
Construction	Project File	Request By Mail		Mgr Capital Prograr	nming	



Return Bid Tabulation

Project: Fairfield Road Retaining Walls

Section: 13-00000-07-GM

Description: Rehabilitation of Fairfield Road retaining walls

Mana No	Dav. Card	Description.	Overstitus	11	F F		Allianaa Caasta		Illinaia Canat	Commonation	Varialia Com		Lauia Camat		Comember	Caakakia
Item No.	Pay Code	Description	Quantity	Unit	Eng Estin Unit Price	Extnd. Price	Alliance Contra	Extnd. Price	Illinois Constructo Unit Price	Extnd. Price	Kovolic Cons Unit Price	Extnd. Price	Lorig Construct Unit Price	Extnd. Price	Copenhaver (Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	F 00	CLLVD		\$170.00	\$100.00	\$500.00	\$67.00	\$335.00		\$500.00	\$65.00	\$325.00	\$100.00	\$500.00
1		EXCAVATING AND GRADING EXISTING	5.00	CU YD	\$34.00	\$170.00	\$100.00	\$500.00	\$67.00	\$335.00	\$100.00	\$500.00	\$65.00	\$325.00	\$100.00	\$500.00
2		SHOULDER	25.00	UNIT	\$685.00	\$17,125.00	\$50.00	\$1,250.00	\$1,000.00	\$25,000.00	\$200.00	\$5,000.00	\$1,250.00	\$31,250.00	\$1,100.00	\$27,500.00
2		FURNISHED EXCAVATION	28.00	CU YD	\$33.00	\$924.00	\$10.00	\$280.00	\$1,000.00	\$1,176.00	\$100.00	\$2,800.00	\$65.00	\$1,820.00	\$30.00	\$840.00
Δ		PERIMETER EROSION BARRIER		FOOT	\$3.00	\$6,021.00	\$2.50	\$5,017.50	\$2.50	\$5,017.50	\$25.00	\$50,175.00	\$2.50	\$5,017.50	\$2.00	\$4,014.00
4	28000400	T EMINIETEN ENOSION BANNEN	2,007.00	1001	\$3.00	30,021.00	\$2.50	\$5,017.50	\$2.50	\$3,017.30	\$25.00	\$30,173.00	\$2.50	\$3,017.30	\$2.00	\$4,014.00
5	20200112	AGGREGATE SUBGRADE IMPROVEMENT, 12"	2,409.00	sq vd	\$15.00	\$36,135.00	\$7.25	\$17,465.25	\$21.00	\$50,589.00	\$18.00	\$43,362.00	\$22.00	\$52,998.00	\$15.00	\$36,135.00
6		BITUMINOUS MATERIALS (PRIME COAT)	1,206.00	. ,	\$2.25	\$2,713.50	\$0.01	\$12.06	\$2.00	\$2,412.00	\$5.00	\$6,030.00	\$2.00	\$2,412.00	\$0.10	\$120.60
U		HOT-MIX ASPHALT SURFACE COURSE,	1,200.00	UALLON	\$2.25	\$2,713.30	Ş0.01	\$12.00	\$2.00	\$2,412.00	\$5.00	\$0,030.00	\$2.00	\$2,412.00	Ş0.10	\$120.00
7		MIX "D", N50	132.00	TON	\$86.00	\$11,352.00	\$103.00	\$13,596.00	\$98.00	\$12,936.00	\$150.00	\$19,800.00	\$98.50	\$13,002.00	\$115.00	\$15,180.00
8		PROTECTIVE COAT		SQ YD	\$2.00	\$640.00	\$0.01	\$3.20	\$2.00	\$640.00	\$5.00	\$1,600.00	\$1.00	\$320.00	\$3.00	\$960.00
U		HOT-MIX ASPHALT SURFACE REMOVAL, 1	320.00	3Q 1D	\$2.00	Ç0+0.00	Ş0.01	75.20	72.00	Ç040.00	75.00	\$1,000.00	71.00	7320.00	75.00	\$500.00
9	44000155	•	1,570.00	SO YD	\$6.00	\$9,420.00	\$6.35	\$9,969.50	\$4.20	\$6,594.00	\$13.00	\$20,410.00	\$4.25	\$6,672.50	\$7.50	\$11,775.00
,		COMBINATION CURB AND GUTTER	1,570.00	30 10	70.00	Ç3,420.00	40.33	43,303.30	Ų-1.20	Ç0,554.00	Ģ15.00	\$20,410.00	Ų4. 2 3	Ç0,072.30	ψ7.50	ψ11,775.00
10	44000500		95.00	FOOT	\$15.00	\$1,425.00	\$20.00	\$1,900.00	\$15.00	\$1,425.00	\$20.00	\$1,900.00	\$3.50	\$332.50	\$10.00	\$950.00
11		PAVED SHOULDER REMOVAL	2.409.00	SQ YD	\$8.50	\$20,476.50	\$5.00	\$12,045.00	\$8.00	\$19,272.00	\$27.00	\$65,043.00	\$9.00	\$21,681.00	\$7.00	\$16,863.00
12		HOT-MIX ASPHALT SHOULDERS, 6"	,	SQ YD	\$44.00	\$105,996.00	\$44.85	\$108,043.65	\$30.25	\$72,872.25	\$60.00	\$144,540.00	\$30.50	\$73,474.50	\$49.00	\$118,041.00
13		STRUCTURE EXCAVATION	82.00	CU YD	\$35.00	\$2,870.00	\$50.00	\$4,100.00	\$115.00	\$9,430.00	\$100.00	\$8,200.00	\$150.00	\$12,300.00	\$36.00	\$2,952.00
14	50300225	CONCRETE STRUCTURES	189.60	CU YD	\$750.00	\$142,200.00	\$1,800.00	\$341,280.00	\$900.00	\$170,640.00	\$1,000.00	\$189,600.00	\$850.00	\$161,160.00	\$750.00	\$142,200.00
15	50300285	FORM LINER TEXTURED SURFACE	3,192.00	SQ FT	\$7.00	\$22,344.00	\$4.00	\$12,768.00	\$10.00	\$31,920.00	\$15.00	\$47,880.00	\$8.50	\$27,132.00	\$12.00	\$38,304.00
16	50500505	STUD SHEAR CONNECTORS	1,524.00	EACH	\$10.00	\$15,240.00	\$5.00	\$7,620.00	\$10.00	\$15,240.00	\$7.00	\$10,668.00	\$15.00	\$22,860.00	\$3.00	\$4,572.00
17		REINFORCEMENT BARS, EPOXY COATED	5,730.00		\$2.00	\$11,460.00	\$0.75	\$4,297.50	\$2.05	\$11,746.50	\$2.00	\$11,460.00	\$2.20	\$12,606.00	\$2.00	\$11,460.00
		COMBINATION CONCRETE CURB AND														
18	60605000	GUTTER, TYPE B-6.24	6.00	FOOT	\$40.00	\$240.00	\$100.00	\$600.00	\$100.00	\$600.00	\$100.00	\$600.00	\$65.00	\$390.00	\$75.00	\$450.00
		STEEL PLATE BEAM GUARD RAIL, TYPE A, 6														
19	63000001	FOOT POSTS	1,525.00	FOOT	\$22.00	\$33,550.00	\$19.85	\$30,271.25	\$23.77	\$36,249.25	\$25.00	\$38,125.00	\$24.00	\$36,600.00	\$21.00	\$32,025.00
		TRAFFIC BARRIER TERMINAL, TYPE 1														
20	63100167	(SPECIAL) TANGENT	4.00	EACH	\$2,400.00	\$9,600.00	\$2,115.00	\$8,460.00	\$2,115.00	\$8,460.00	\$3,000.00	\$12,000.00	\$2,150.00	\$8,600.00	\$2,800.00	\$11,200.00
		TRAFFIC BARRIER TERMINAL, TYPE 1														
21	63100169	(SPECIAL) FLARED	2.00	EACH	\$2,400.00	\$4,800.00	\$2,014.00	\$4,028.00	\$2,014.00	\$4,028.00	\$2,700.00	\$5,400.00	\$2,025.00	\$4,050.00	\$2,400.00	\$4,800.00
22	63200310	GUARDRAIL REMOVAL	1,700.00	FOOT	\$5.00	\$8,500.00	\$4.40	\$7,480.00	\$4.40	\$7,480.00	\$5.00	\$8,500.00	\$4.50	\$7,650.00	\$5.00	\$8,500.00
23	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	5,670.00	FOOT	\$1.00	\$5,670.00	\$1.05	\$5,953.50	\$1.00	\$5,670.00	\$2.00	\$11,340.00	\$1.05	\$5,953.50	\$1.20	\$6,804.00
24	70300530	PAVEMENT MARKING TAPE, TYPE III 5"	5,670.00	FOOT	\$1.00	\$5,670.00	\$1.30	\$7,371.00	\$1.25	\$7,087.50	\$3.00	\$17,010.00	\$1.30	\$7,371.00	\$1.50	\$8,505.00
		WORK ZONE PAVEMENT MARKING														
25	70301000	REMOVAL	4,253.00	SQ FT	\$1.00	\$4,253.00	\$1.00	\$4,253.00	\$0.01	\$42.53	\$2.00	\$8,506.00	\$1.00	\$4,253.00	\$1.20	\$5,103.60



Return Bid Tabulation

Project: Fairfield Road Retaining Walls

Section: 13-00000-07-GM

Description: Rehabilitation of Fairfield Road retaining walls

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti		Alliance Contr		Illinois Constructo		Kovolic Cons		Lorig Construct		Copenhaver (
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
26	70400100	TEMPORARY CONCRETE BARRIER	1,700.00	FOOT	\$25.00	\$42,500.00	\$10.00	\$17,000.00	\$17.50	\$29,750.00	\$40.00	\$68,000.00	\$21.00	\$35,700.00	\$26.00	\$44,200.00
27	70400200	RELOCATE TEMPORARY CONCRETE BARRIER	360.00	FOOT	\$7.00	\$2,520.00	\$17.50	\$6,300.00	\$4.00	\$1,440.00	\$15.00	\$5,400.00	\$3.00	\$1,080.00	\$15.00	\$5,400.00
20		IMPACT ATTENUATORS, TEMPORARY (FULLY REDIRECTIVE, NARROW), TEST LEVEL 3	4.00	EACH	\$5,400.00	\$21,600.00	\$4,500.00	\$18,000.00	\$4,500.00	\$18,000.00	\$6,000.00	\$24,000.00	\$4,500.00	\$18,000.00	\$10,000.00	\$40,000.00
20	70000200	REDIRECTIVE, NARROWJ, TEST LEVEL S	4.00	EACH	\$3,400.00	\$21,000.00	\$4,300.00	\$18,000.00	\$4,500.00	\$18,000.00	\$0,000.00	324,000.00	\$4,500.00	\$18,000.00	\$10,000.00	\$40,000.00
		IMPACT ATTENUATORS, RELOCATE (FULLY														
29		REDIRECTIVE, NARROW), TEST LEVEL 3	2.00	EACH	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$3.000.00	\$6.000.00	\$2,500.00	\$5.000.00	\$2,200.00	\$4,400.00
		THERMOPLASTIC PAVEMENT MARKING			, ,	, . ,	, ,	, , , , , , , , ,	, ,	1 - 7 - 1 - 1	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, -,	, ,	, .,	, ,	, ,
30	78000100	- LETTERS AND SYMBOLS	36.00	SQ FT	\$5.00	\$180.00	\$4.00	\$144.00	\$5.00	\$180.00	\$6.00	\$216.00	\$5.00	\$180.00	\$8.00	\$288.00
	THERMOPLASTIC PAVEMENT MARKING															-
31	78000200	- LINE 4"	6,282.00	FOOT	\$0.75	\$4,711.50	\$0.70	\$4,397.40	\$1.35	\$8,480.70	\$1.00	\$6,282.00	\$0.80	\$5,025.60	\$1.00	\$6,282.00
		THERMOPLASTIC PAVEMENT MARKING														
32	78000300		4,870.00	FOOT	\$0.80	\$3,896.00	\$0.90	\$4,383.00	\$1.75	\$8,522.50	\$1.50	\$7,305.00	\$1.15	\$5,600.50	\$1.00	\$4,870.00
		THERMOPLASTIC PAVEMENT MARKING														
33	78000400		163.00	FOOT	\$1.80	\$293.40	\$1.05	\$171.15	\$2.10	\$342.30	\$2.00	\$326.00	\$1.25	\$203.75	\$1.20	\$195.60
		THERMOPLASTIC PAVEMENT MARKING								_						
34	78000600		93.00		\$2.50	\$232.50	\$2.10	\$195.30	\$4.20	\$390.60	\$3.00	\$279.00	\$2.50	\$232.50	\$3.00	\$279.00
35		PAVEMENT MARKING REMOVAL	4,298.00	SQ FT	\$1.30	\$5,587.40	\$1.00	\$4,298.00	\$1.00	\$4,298.00	\$2.00	\$8,596.00	\$1.00	\$4,298.00	\$1.20	\$5,157.60
26		MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	10.106.00	UNIT	\$1.00	\$10,106.00	\$1.00	\$10,106.00	\$1.00	\$10,106.00	\$1.00	\$10,106.00	\$1.00	\$10,106.00	\$0.01	\$101.06
37		GUARDRAIL REFLECTORS	10,106.00	EACH	\$30.00	\$3,150.00	\$1.00	\$1,050.00	\$1.00	\$1,050.00	\$1.00	\$10,106.00	\$1.00	\$10,106.00	\$16.00	\$1,680.00
37		PERMANENT STEEL SHEET PILING	17,768.00		\$42.00	\$746,256.00	\$23.50	\$417,548.00	\$25.75	\$457,526.00	\$40.00	\$710,720.00	\$24.00	\$426,432.00	\$30.00	\$533,040.00
30		TRAFFIC CONTROL AND PROTECTION	17,700.00	JQTT	Ş42.00	\$740,230.00	\$25.50	Ş417,540.00	Ç23.73	Ç437,320.00	Ş40.00	\$710,720.00	Ş24.00	Ç420,432.00	\$30.00	\$555,040.00
39	X7010216		1.00	L SUM	\$67,845.00	\$67,845.00	\$11,300.00	\$11,300.00	\$26,998.37	\$26,998.37	\$30,000.00	\$30,000.00	\$145,000.00	\$145,000.00	\$123,000.00	\$123,000.00
40		SEEDING (COMPLETE)	1,702.00		\$12.00	\$20,424.00	\$3.00	\$5,106.00	\$4.90	\$8,339.80	\$8.00	\$13,616.00	\$6.50	\$11,063.00	\$5.00	\$8,510.00
41		STAINING CONCRETE STRUCTURES	196.00	SQ YD	\$45.00	\$8,820.00	\$30.00	\$5,880.00	\$51.00	\$9,996.00	\$90.00	\$17,640.00	\$40.00	\$7,840.00	\$20.00	\$3,920.00
42	Z0055905	TEMPORARY CONSTRUCTION FENCE	670.00	FOOT	\$3.50	\$2,345.00	\$3.20	\$2,144.00	\$3.20	\$2,144.00	\$5.00	\$3,350.00	\$3.25	\$2,177.50	\$2.00	\$1,340.00
43	Z0075498	CONCRETE RETAINING WALL REMOVAL	110.00	CU YD	\$34.00	\$3,740.00	\$10.00	\$1,100.00	\$70.00	\$7,700.00	\$300.00	\$33,000.00	\$125.00	\$13,750.00	\$200.00	\$22,000.00
		Bid Total				\$1,428,001.80		\$1,122,687.26		\$1,107,126.80		\$1,676,335.00		\$1,212,969.35		\$1,314,417.46



Project: Fairfield Road Retaining Walls

Section: 13-00000-07-GM

Description: Rehabilitation of Fairfield Road retaining walls

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	5	CU YD	\$34.00	\$170.00	\$65.00	\$100.00	\$86.40
		EXCAVATING AND GRADING EXISTING							
2	20200600	SHOULDER	25	UNIT	\$685.00	\$17,125.00		\$1,250.00	
3	20400800	FURNISHED EXCAVATION	28	CU YD	\$33.00	\$924.00	\$10.00	\$100.00	\$49.40
4	28000400	PERIMETER EROSION BARRIER	2,007	FOOT	\$3.00	\$6,021.00	\$2.00	\$25.00	\$6.90
5	30300112	AGGREGATE SUBGRADE IMPROVEMENT, 12"	2,409	sq yd	\$15.00	\$36,135.00	\$7.25	\$22.00	\$16.65
6	40600100	BITUMINOUS MATERIALS (PRIME COAT)	1,206	GALLON	\$2.25	\$2,713.50	\$0.01	\$5.00	\$1.82
		HOT-MIX ASPHALT SURFACE COURSE,							
7	40603335	MIX "D", N50	132	TON	\$86.00	\$11,352.00	\$98.00	\$150.00	\$112.90
8	42001300	PROTECTIVE COAT	320	SQ YD	\$2.00	\$640.00	\$0.01	\$5.00	\$2.20
		HOT-MIX ASPHALT SURFACE REMOVAL, 1							
9	44000155	1/2"	1,570	SQ YD	\$6.00	\$9,420.00	\$4.20	\$13.00	\$7.06
10	44000500	COMBINATION CURB AND GUTTER REMOVAL	95	FOOT	\$15.00	\$1,425.00	\$3.50	\$20.00	\$13.70
11	44004250	PAVED SHOULDER REMOVAL	2,409	SQ YD	\$8.50	\$20,476.50	\$5.00	\$27.00	\$11.20
12	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	2,409	SQ YD	\$44.00	\$105,996.00	\$30.25	\$60.00	\$42.92
13	50200100	STRUCTURE EXCAVATION	82	CU YD	\$35.00	\$2,870.00	\$36.00	\$150.00	\$90.20
14	50300225	CONCRETE STRUCTURES	190	CU YD	\$750.00	\$142,200.00	\$750.00	\$1,800.00	\$1,060.00
15	50300285	FORM LINER TEXTURED SURFACE	3,192	SQ FT	\$7.00	\$22,344.00	\$4.00	\$15.00	\$9.90



Project: Fairfield Road Retaining Walls

Section: 13-00000-07-GM

Description: Rehabilitation of Fairfield Road retaining walls

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
16	50500505	STUD SHEAR CONNECTORS	1,524	EACH	\$10.00	\$15,240.00	\$3.00	\$15.00	\$8.00
17	50800205	REINFORCEMENT BARS, EPOXY COATED	5,730	POUND	\$2.00	\$11,460.00	\$0.75	\$2.20	\$1.80
		COMBINATION CONCRETE CURB AND							
18	60605000	GUTTER, TYPE B-6.24	6	FOOT	\$40.00	\$240.00	\$65.00	\$100.00	\$88.00
		STEEL PLATE BEAM GUARD RAIL, TYPE A, 6							
19	63000001	FOOT POSTS	1,525	FOOT	\$22.00	\$33,550.00	\$19.85	\$25.00	\$22.72
		TRAFFIC BARRIER TERMINAL, TYPE 1							
20	63100167	(SPECIAL) TANGENT	4	EACH	\$2,400.00	\$9,600.00	\$2,115.00	\$3,000.00	\$2,436.00
		TRAFFIC BARRIER TERMINAL, TYPE 1							
21	63100169	(SPECIAL) FLARED	2	EACH	\$2,400.00	\$4,800.00	\$2,014.00	\$2,700.00	\$2,230.60
22	63200310	GUARDRAIL REMOVAL	1,700	FOOT	\$5.00	\$8,500.00	\$4.40	\$5.00	\$4.66
23	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	5,670	FOOT	\$1.00	\$5,670.00	\$1.00	\$2.00	\$1.26
24	70300530	PAVEMENT MARKING TAPE, TYPE III 5"	5,670	FOOT	\$1.00	\$5,670.00	\$1.25	\$3.00	\$1.67
25	70301000	WORK ZONE PAVEMENT MARKING REMOVAL	4,253	SQ FT	\$1.00	\$4,253.00	\$0.01	\$2.00	\$1.04
26	70400100	TEMPORARY CONCRETE BARRIER	1,700	FOOT	\$25.00	\$42,500.00	\$10.00	\$40.00	\$22.90
27	70400200	RELOCATE TEMPORARY CONCRETE BARRIER	360	FOOT	\$7.00	\$2,520.00	\$3.00	\$17.50	\$10.90
		IMPACT ATTENUATORS, TEMPORARY (FULLY							
28	70600260	REDIRECTIVE, NARROW), TEST LEVEL 3	4	EACH	\$5,400.00	\$21,600.00	\$4,500.00	\$10,000.00	\$5,900.00



Project: Fairfield Road Retaining Walls

Section: 13-00000-07-GM

Description: Rehabilitation of Fairfield Road retaining walls

					Eng Es	Eng Estimate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
		IMPACT ATTENUATORS, RELOCATE (FULLY							
29	70600332	REDIRECTIVE, NARROW), TEST LEVEL 3	2	EACH	\$2,500.00	\$5,000.00	\$2,200.00	\$3,000.00	\$2,540.00
		THERMOPLASTIC PAVEMENT MARKING	-						
30	78000100	LETTERS AND SYMBOLS	36	SQ FT	\$5.00	\$180.00	\$4.00	\$8.00	\$5.60
		THERMOPLASTIC PAVEMENT MARKING	-						
31	78000200	LINE 4"	6,282	FOOT	\$0.75	\$4,711.50	\$0.70	\$1.35	\$0.97
		THERMOPLASTIC PAVEMENT MARKING	-						
32	78000300	LINE 5"	4,870	FOOT	\$0.80	\$3,896.00	\$0.90	\$1.75	\$1.26
		THERMOPLASTIC PAVEMENT MARKING	-						
33	78000400	LINE 6"	163	FOOT	\$1.80	\$293.40	\$1.05	\$2.10	\$1.52
		THERMOPLASTIC PAVEMENT MARKING	-						
34	78000600	LINE 12"	93	FOOT	\$2.50	\$232.50	\$2.10	\$4.20	\$2.96
35	78300100	PAVEMENT MARKING REMOVAL	4,298	SQ FT	\$1.30	\$5,587.40	\$1.00	\$2.00	\$1.24
		MAINTENANCE OF TEMPORARY EROSION							
36	LC200501	CONTROL SYSTEMS	10,106	UNIT	\$1.00	\$10,106.00	\$0.01	\$1.00	\$0.80
37	LC782000	GUARDRAIL REFLECTORS	105	EACH	\$30.00	\$3,150.00	\$10.00	\$16.00	\$11.20
38	X5121800	PERMANENT STEEL SHEET PILING	17,768	SQ FT	\$42.00	\$746,256.00	\$23.50	\$40.00	\$28.65
		TRAFFIC CONTROL AND PROTECTION							
39	X7010216	(SPECIAL)	1	L SUM	\$67,845.00	\$67,845.00	\$11,300.00	\$145,000.00	\$67,259.67
40.0	XX006343	SEEDING (COMPLETE)	1702.0	SQ YD	12.0	20424.0	3.0	8.0	5.5



Project: Fairfield Road Retaining Walls

Section: 13-00000-07-GM

Description: Rehabilitation of Fairfield Road retaining walls

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
41	XX007023	STAINING CONCRETE STRUCTURES	196	SQ YD	\$45.00	\$8,820.00	\$20.00	\$90.00	\$46.20
42	Z0055905	TEMPORARY CONSTRUCTION FENCE	670	FOOT	\$3.50	\$2,345.00	\$2.00	\$5.00	\$3.33
43	Z0075498	CONCRETE RETAINING WALL REMOVAL	110	CU YD	\$34.00	\$3,740.00	\$10.00	\$300.00	\$141.00
		Bid Total			\$1,428,001.80				